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Time : Three hours

PART A — (10 x 2 = 20 marks)
Answer any TEN questions.
LA :

Define ‘Management Accounting’.
Goererrenio senéEwIch — euanuwigy.
What is meant by “interpretation of data’?
yeefl eflLigraisener STSSLILIOSSISOD GTeTHTed GTemen?
Define ‘trend percentage’.
‘Curég afldigh’ — aremugy.

How do.the following items appear in comparative balance
sheet?

31.3.2007 | 31.3.2008
Fixed assets 5,00,000 | 6,00,000
Current assets | 1,50,000 | 3,00,000

PUILE Qouyflons GHUKGD Geareum - Qerkser iy
L bEAumb?

31.3.2007 | 31.3.2008
Bleewirer Qs g saer 5,00,000 6,00,000
BL L) QFrsg)&Eaer 1,50,000 3,00,000

Calculate stock from the following information :

Current ratio = 1.5; Quick ratio = 1; Current liabilities =
Rs. 2,00,000. |

Qeineu b ﬁﬁgrﬁl&;@fﬂéﬂ@;’ﬁgﬂ sr&SmLmu sasdHs :

B g - 1.‘3; Goug eflflgd. = 1; pruy Qurmliyser =
a5 2,00,000. :

Maximﬁm : 75 marks -
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. 10.

11.

12:

' a;amé;gﬂ@é;_:

. Whatis star‘ida"rd ratio?

Bebawiter efldlgd eremmmed Greﬁm?

What is funds flow statement?

B8 G L il arénpra araar?

* Give four examples for ‘cash flows from financing activities’.

HS ml—mémé@ﬂ@ Qiirés RULESHEES »Gfﬁﬁ@@' B&E

2 FERIEIEDGT SHS. L -

Who is a budget controller?

aurey Oseea) S L &L HLILITLL Tem eraiLieuT wifi?

P.r't_epére" a materials pur‘ch'ais_e“ bt}dget for 200'_8' :
Esti»mai;é_drstoék on January 1t 5000 units A
Estimated étqu Qh Deceﬁlbéf. 31st : 4000 units
Estimated consumption : 7000 units,

epeLIQLITGET Qémdiipsd cife) Gsaay S Lsms 2008-b AeTHEE

S Qe : -

sgeriaifl 1; widmapiu srsSH0L HISE : 5000 Swesdr

. GEbLIT 31, S sTEAEUL AISE : 4000 s

H5Te) w S : 7000 SieEsdr.

Find P/V ratio from the following :
(a) - Selling price Rs. 10 per.unit
(b) Variables cost Rs. 7 pet unit
ﬁdsrm@mmmﬁ)@sﬁl@ﬁ)gf Qamu/efipuchar  Lifldwrio Aflgsens I

(=) eApLiewer aflaned @. 10 SiwE @amisS.
(<)) LIHUEL SHLESWD @h: 7 SDG RADEES.

" Find'out fixed cost..

Sales : Rs. 4,00,000
P.V. ratio : 40%

- Loss : Rs. 50,000.
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Qemeumd eQurhisenend Qamean(h s ; _ Hleneowiment <9{|_ésla;‘e_'56mg> saTEE (DS :

(i) @eoru/eflibusnar uflawmo edflsn. ' elHriene : ep. 4,00,000

(<) @onu pliiopp sdpumer. | @aonu, fipuiemen Lflarmo ol s : 40%

(@) ungsniy ey SRR BLtb . 50.000.

()  epueer eflene p. 90 s Gapwb Curg LTgSTIY aﬁ]aﬂmq ‘PART B — (5 x 5 = 25 marks)

| ETeUGUETEY GEMDIL|LD eTETLIENS SaiT (Ll - An F .
swer any FIVE questions.

.
Corgs lpuemer - 3,60,000 | & 13. Explain the scope of Management Accounting.
‘ellhuenar ellane T HHWEGEES 100 - GoavreiTentd semrddliedleor uuﬂ@u&)m@mu efleurl.
INILIHID CFW6| 6@ QRETNISS 50 . ; . : j . o
' 14. Prepare a common size statement from the following balance
. Bleveowiren Qeeweyger A 1,00,000 sheet of Vens Ltd. :

. Balance sheet as on 31t Dec. (Rs. in Lakhs)

Liabilities 2007 2008 Assets 2007 2008
Rs. Rs. Rs. Rs.
Share capital 200 250 Fixed assets 100 120
Reserves 80 100 Investments 50 60
Debentures 100 80 Stock 65 75
Creditors 70 95 Debentures 80 90
Bills payable 50 75 Bills receivable .95 105
Cash at bank 110 150
500 600 - 500 600
Qurg flever ifiGamsamw Gereumn QUL Hows GO mbs)
aenten NAGL L (@ Swimt Qs :
| Bouy Bloe @ity gebui 31 (6. olssdod)
Qumpiyssr 2007 2008 Qans g saar 2007 2008
' G e AT
LRI PSe 200 250 Hleewrear dersgisser 100 120
srly 80 100 @pseS@ser A 50 60
LG LSS D 100 80 syadlmLiy 65 75
sLabGHmit 70 95 sLan ( usdrd 80 90
QeiggisnE Qu.@. wrHmE G 95 105
wrHm&’ G 50 75
_ cuiidl Qurssd 110 150
500 '600 500 600
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15.

16.

-From the following information find out (a) Current ratio,
(b) Acid test ratio.

Rs. i . Rs.
Creditors 30,000 Stock - - 10,000
Bills payable ~ 20,000 Debtors 30,000
Bank overdraft 12,000 Bills receivable 2,000
__ Cash _ 20,000
_ 62,000 62,000
Qereumtd eflupriisemens Qaram() (1) pLLiy eNdgn LD!'_DQ]LD (%) B’
Adssms saTELHE -
. : - O -
sL_albCsmT s 30,000 sysdlmiiy 10,000
Qs.@. LTPHF_H 20,000 sL_enmeniaer 30,000
aumd Cuoamyuupy - 12,000 Qu.@. wrHpf G 2,000
Qpr&gsw 20,000
62,000 - . - 62,000

Calculate funds from .operations. from the following Profit and
Loss Account.

" Particulars Rs. -Particulars Rs."
To Expense;s':péid 3,00,000 By Gross profit  4,50,000
To Depreciation- 70,000 By Gain on sale
To Loss on sale of S - ofland - 60,000

" machine © 4,000
To Discount 200
To. .Goodwill 20,000
To - Netprofit * _ 1,15,800

5,10,000 : 5,10,000

ﬂdﬂ@J@Lb @oru  plL  sansddmps  Qeweum g Smps
VIR T (T ﬂﬁuﬁlmmsm&é\@a :

. efLgEET 5. - eflugrisdr L
Q&Q]lggﬁul;l;_ Qseyser 3,00, 000 G]Lorrgg Qeomud - 4,50,000
Cgioremd | . 70,000 fle eflpLienamuiien .
QupHr edpuemen pLLb 4,000 gsmwb " 60,000 .
BOT@Lllg- . 200 :

BHGUWIT . 20,000
Bl&r @erun - 1,15,800- _
._5,10,000 _5,10,000
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24.

. QeaudLer eraiueufar @rym‘r@ a;me@e;@e;a;rrm SUIS_H
@@uq‘lﬂmm& GOl I_Cﬂara.l@wrrg)j

Qurrgnuqsm 20Q8 2009 Q&nﬁg}&&m 2008 2009
 m o . -

5o 1,50,000 1,75,000 504> 1,10,000 1,50,000

auiid) sLen 1,60,000 1,00,000 @uidyd  2,00,000 1,40,000

sLafpGanit © 90,000 1,00,000 &74; 50,000 45,000
- Qegispiseiu - o siL_enmeni 70,000 80,000

or 8@ 50,000 40,000 Qprssis 20,000 25,000

IFC-Q  A\m58) sL6n - 25,000 .

4,50,000 4,40,000 4,50,000 4,40,000

fay @aruwrers 2009-b we®E@ . 60,000. Geaumeims e
Qupdly oiLésn @. 25,000 (Gedbgidrer Caiionend 5. 10,000)-1b
. 13,000-5@ eflpsiuLg. @updrssiss adprar Caiorer, REES,

31.12.08-4@ . 50,000, 31.12.09-4@ e5. 85 000 y@tb. Qyrés g,_)l_l_

aub]a;msa)u.l st leuis. ; "

From t_he following information calculate :
(@) PV r_afio; '

(b) Break even sales

(¢)° Margin of safety.

(d) If the selling price is reduced to Rs. 90, by how much is the
> margin of safety redqced? '

Rs.
Total sales 3,60,000
Selling price per unit _ 100
Variable cost per unit 50
Fixed cost s 1,00,000
9 - ~ 60556/CYA5A



22.

From the following particulars prepére a balance sheet :

Working capital ‘ , Rs. 75-,000
Reserves and sﬁrplue . Rs. 1,00,000
Bank overdraft _ ; " Rs. 60,000

- Current ratio . . L75
Quick ratio - s

Fixed assets to propnetors fund : 0 7 5

ﬂmm@m aﬁ]uurma;smmas GI&;rrsm@ @@uq.r_ﬂenams @gﬂ]umu Swimiv
Qawis :

BOLpeD ApSD - . . 75,000 -
s ‘w,r_bgnb_ o ufl @ 1;,00,000
cumifl Gw'cbmmm’.‘rurfbgjr em. 60,000

pLOyeddsd - 175 -

Gouss efldlad 115
2 Aenwwirert HE L5§rra'r;[5]mq>é Qarggiseer: 0.75. -

23. The comparative balance sheet of Mr. Wheldon for the two years
were as follows :
Liabilities . 2008 2009 Assets 2008 2009
v = ' Rs. - Rs. ‘ Rs. Rs:
Capital - 1,50,000 1,75,060 Buildings 1,10,000 1,50,000
Loan from bank 1,60,000 '1,00,000 Machinery 2,00,000° 1,40,000
Creditors ~ 90,000 1,00,000 Stock 50,000 45,000
Bills payable 50,000 40,000 Debtors 70,000 80,000
Loan from IFC ~ 25,000Cash - 20,000 25,000

4,50,000 4,40,000 ' 4,50,000 4,40,000

- Additional 1nformat1on

" Net profit for the : year 2009 amounted to Rs 60,000. Durmg the
- year a machine costing Rs. 25,000 (accumulated depreciation
-Rs. 10,000) ‘was sold for Rs. 13,000. The provision for

depreciation against’ machinery as on 31.12.08 was Rs. 50,000
and on 31.12.09 Rs. 85,000. Prepare a Cash flow statement.

8 60556/CYA5A

17.

18.

From the following balances you are required to calculate cash
" from operating activities : K
' ‘ 31.12:13 31.12.14

(Rs.) Rs.)
P and L a/c balance - 50,000  3,10,000
Debtors el | 90,000 84,000
Creditors : 40,000 52,000 -
Bills receivables = - ' 24,000 30,000
Prepaid expenses . 3,200 - 2,800
Bills payable ~ - ©. . 30,000 32,000
Outstanding expenses .- 2,400 3,200
Outs‘tandin'g income 1,600 1,800
Income received in advance - bty sa 1600

@mm@m Ggrrmasmmas Qsnam(® QEUJGI)LHTI_lq.QleTGTI’ Qurra;asgsmg
SSHE (DG ;- :
31.12.13 31.12. 14

(em.) (6m.)
Qemu B L &/@ @iy 50,000  3,10,000
EL_TTEMTE&HET - 90,000 : 84,000
sLafpGamt ' 40,000 52,000
Qupis@EEAu wTPYE Haer 24,000 . 30,000
@endar g Cu QegisHu Gswaysar 3,200 2,800
Qrguss@i@u wHmE Gadr 30,000 32,000
QsrRuL Geueirigui Qaeeyasér 2,400 3,200
QupriuL Geuairg Wi Gu(BHLOTEID 1,600 1,800

@emgat_ig G QuHP auEHLOTEILD 500 © 600

Prepare marginal cost statement from the following data :
Units sold 2,000

Rs. per unit

Direct materials 10
Direct labour , 6
Direct expenses 4

Offices overheads 10 (40% variables)
Selling overheads 6 (50% fixed)

S_el]ing‘ price- : 50 :
| S 60556/CYABA



Qeneupeuameupenps Qstan® efeflby L& SiflGmsai S

Qais : :
eNlDLIenar e 2,000
BIDEG RENEES (€15 )
G, apeoli@ummeT 10
Crig Lenflwimart =S8
Coiig- démmadT | 4

sigiaies CiopQswaiser 10 (40% Lwrpui@id)
efHLienar Guplsweyser 6 (50% ﬁcu;munmg])

December | December
Current, Previous
Year Year
Common-size percentages :
Sales (net) 100% 100%
Cost of goods sold ? ?
Gross profit on sales 40% ?
Operating expenses and income taxes 20% 25%
Net income 20% 10%
(= 20,000)

(3)' Determine 'the missing trend = and common size

p"ercéntagés; 4

(b) Compute the net income for the currént year. .

ABC BpieuengSen LGS L el I L CLINE® Lopoid Qungl Hane

eNg1d G erreunHLom :
BLUY a6 | phosu ek

g FOLIT - - L igEhUf
Gunég s :
eflpuenen (Hlayb) 120% 100%
&1 elhLienan 2j_&sLD ? - 100
elpuenanuilen Qorss @wmud ? 100%
Qewpum’ H QFweyser HMILD eu(HLOTeT cuif] ? 100%
A&7 aiporeand ? 100%
Qurg Hlenew eNflgi :
edpuenar (Hapib) 100% 100%
F75@ elpLienenudlen L&D ? ?
eflpuenanuller {_F,\a;g@&)rru& 40% ?
Qewpum’_H Cewa|ser wHHILD aiFLTeT culfl 20% 25%
Hl&y eugmomend 20% 10%

(= 20,000)

aflpuienan eflene 50
19. Draw a Break Even Chart and show the Break Even Point and
Margin of Safety. o B o
Bamu pll_l_uSlei)d)r_f au@TLLLD auannBgl 2ifed mﬁm@uqmﬂ 1ofmLD
- unganiy efefibenLs srama. -
PART C — (3 x 10 = 30 marks)
Answer any THREE questions,
20. Discuss the role of management accountant in a business
_concern.
@it eQwirLiry evgruasSe Coanaranio sawssmertlear Lkiams eflourd.
21. A partial list of trend and common size percentage for ABC Co.
Ltd. is given below : ’ ’
December | December
Current Previous
~ Yeéar . Year
Trend percentages :
Sales (net) ' 120% 100%
Cost of goods sold ? 100
Gross profit on sales Y, 100%
Operating expenses and income taxes ? 100%
Net income ? 100%
6
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(@) UL CuréE ppgib Aurg flae-eldstismar Siomarf.

(=) BLLIY yaTiqen Bsy aigporarsms s O,

7
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